We &rc ’@%"A“/’J in ’/’L\—Q JL:r‘QC(‘l‘ovz
oL ‘\b[(‘\'\L?A/In( fzuatvacthce ‘! d»f: CAlrve S
of

/ﬂ’l'f\f 1S The mios# ué:b F[c*\’(«m
Caﬁ{t}arj in which 54——u\,€3 carve s

.

(ast Time we showed Aot any
JMDA‘)"\ carve N CF/‘ (ﬂ}‘f>
n be E.M‘:%—J«e—f-o{ b\“/e\o(oww!‘f‘l;‘c_a((j

o~

i (L?Ff,

Pooo§ Shecteh: Consicher fre “iecent
\/t’\.('\,f,.l.-D o G'L m Crve C, < @fq‘

SCC CC—) s % ‘n s on secant ot A
fragpnd lines b &8 € P

TF n2 o 1 hen @[P \Sec Q) 15 wnan-

61/\/\(0-‘-—3 y S8 e cAan c_,{/tooj& - rb;,/[_l,

?C—, d-/ﬂ)"\ S&CCC>' /H’\-E-V\ e f(b‘jQC_("rO/\



Tl; | (C,IFV\\F s @]PW
c — C
) Jo'u!}ulomorf"\fc ont 115 qu?/c,:
C = 15 (Q) = C' ¢ @Jpn‘-’
/

WL\«,J( e 4 W(b"‘a 7

TF az 3 tren i+ mipht be the
case thet Fc (8D = CL\T’SJ se There
i now"\z_M ‘/‘b Pm&e_ck *Frbm‘

EXOLW\‘D(Q. . Congicter the +b~)i5\|/'tv& cabic :
C - %CSB, st séi t3)% < P’

First Gf's ?rs ec.{— Faw e f"""!'
"(OOIO)C CP’°\ C

b e Ptam CP = é(x,g,o,z—)E.



Thae Line conrectin a,uu.r-\,{ (odi./\(_

J AN
& = <4/19'C/0Q) & P‘;CO,Q,'/O) /P/L‘x.S
et frm Z-}'Xl’a‘ = Cq,bl ct X, )

This line iafersecty @PI; g(%p,o,t)}
(AN e F";’\"' (‘\/’9/ O/‘Q> :

T @WS\F — (P
(@/LJQ/A) k’g (ﬁ}b/Ojei)’

@Q_J{'rtc_-(’f/\) ’bﬂ}g Fm&e_c_*;on 13 ’rL\-L
rocve C va-ﬂd

T-];(C) : ZC&;,%) NEA TR DY
= \/<'~33—><z%>
T =)' st = () = e

/n,\'(S 15 & C%Jr?fé(i( cubic e

e <, 9 chard . Y

4/




This dhppened becomse o= (0,0,1,0)
is ou a Tyent line b C .
Namely , fre line (0,0, X, x+1)
is fansent h C 4 (29,9, 1)

(OJOJ\/O)
¢

Frls'be_clf’mn nlon>
o "("W\;/Lv\—\—'

Al e obviss Pmchhan
/@\avt c,UL\TIDS/ Se (ot ‘g -(\CD o

[-& S olok/lolmj F(bl\eC«{‘lbn,

?AQQ'C'* ;s %:(\/0/0)\)
e CP\C orh WZ:%\(O,Y/%%}?



The Line = ¢4 Xég = <‘\+'>\/lolc_/cﬂ+'>\)
e e 13 'h“t FL«Vu, d;TPL: ECO'X’DI?‘)E
LA)\"-&\/\ ad N :O/.(,—Q-J '>\:—~a\.
50 ’h/\{ ?OSQC‘\’T»A \ S D;Vt’\ bj

_— . 3 2
W= (g \7) —5 CiP
(",b/cli) [_—)CO/\OIC-/i”ﬁ>.

Tz_g,gf—rtc,'l"m) Mis ’fb\p_ canvt aivc;
T.—z; (C\ < é(o)x,b’%): Cols?-é/ 567‘/ {3_53>%
= \/ («3—- U3+o<j%) )

wlf\if/b\ 1S A VLOO{‘\,{ C%L.‘« c Ve

in = <, Y \o(au;




00FPS | T ?6:/\# % Cl,2,0,1)
oas on a secant (non-tangent)
t dne cacve. Taleed, Phes (ine
is (Z,0,0,x+1), whid
ntteseds C o in exac—\-(j tuw o
\ao‘m\:s Cwhen XN = O and -1 -

Cl0,2,1) o

_-1.0,9° 4 e cti
CL,00,0)=CLo%™ pojection °‘(°"‘)

| v+ /

yd

e secant

(0,2,9, \')/

R

I claim ’fh&J- 61._::\_7 fmigc-&ro/\
& e Fuisfed enbic C € @1733
ontov C[',]?z 15 e.zuu\/a(.an(f 4+ one o f




4’1/% aloove +L«)o CXALW\F(QS , (:'C./J/\q\y
a 5:“‘;L¢- Cadp or = 5?/1)(0. no Le .

In other Lo s , T clatm That
Sac_ CC—) = 4:?3)

an L ’h"‘“l' %”7 ]ao:n\' FC’ @/ﬂjg\c
Lles on eirer a secant ar a -l—z.n)w%

<\9-+ not 'Vo'h‘\) ) T (orbuﬂ T""S wé

uill wsSe & \/e.r> c,Le.veV‘ IVQQ& ‘me

EH;\,N‘IJ/ A(J Ge,ovvl.« ) F\) “53 .

jyb_.\ © Thare exists an ackian of 6 (/2
on CP° with threw ocbits O 0, Oy
satis ¥4 'H’\) ‘

0,: C
B0 0, 7 wnlen oF Tongent lints

@lu o, v (3’3 = See (0)



S-l-(‘ana,o_ cction oF ?GL‘L “§ 2 S“EPO‘“F
oF —]’u wsurl actfon ‘]O(;ch 4y CE-]?3

?na? . First we observe Aot
C=§ (Y st st ¢ f <
5 pmgectively eguivelnt h
o' - 3(53/3516, 35€1)f3)2 < CE_TB.
| Tn fact, we can choost ag§ cosrds.

a_,ﬁ:} b‘\..f)S AJ: 3_‘&/'”\3 N S,'L"]

Next we identify CP3 wih e
S/Lj— o"f 3"‘F'brvv\5 n Sewl \/aciulg(.eg ut/\/ N

I~
d 3
(\Z > = ol 4 bd'v Feuwv ¢ v
s

e Aeftan pre (Lft) action F Pel,

Cb(,\/) as wsual



! ﬁ (‘4> _ < + {3\/
0 v/ Ya + &V
And we extrad s acdisa T
a’,'ﬂjg s Pllows :

(39 (%)

m(a«u@—ﬁﬂ y b ("f‘"*'f“’) ﬂ"'\f §v)

-
.« =

rC om’rfv)()‘mé“v) t A(XM»‘SV

S o e COMFV\.'(’&-(-_I.OV]

o3 o2 ¥ =< " v’
_ [ 3«tp < Ot ZepY Y 2rs 3Y5
- 3«13"' PZF*Z*FS oS+ ZFYS 23Ys”

F's ﬁtg I,égl ¢?

L No S

One can chec lc ’\74‘\."' ’{"V\‘lj' 15 « r:al‘\{'
acyien on @ﬂﬂ becanst W reverses

4’1«& orAe of M\«H’ir(ic-\.‘f‘?on )



A Fder that clever Lotinition , e
st 15 easier. We obsarve 4naf
hnis action rmsa(dcs The Fectorization

()4[ - frrms in Ca,v) . Thas we /&w(

? orbits ¢ Use fhat réLZ(L<LF\
3 i -Q-rq,nr't{‘/'\/‘c on 'k'f"((“5
@'1 - { L Cw,v) g o Fd:m—;_

A L () LyCamd 2

O, : § L)L Ly Covs 2

1—‘\’ ) Q‘xé'j 'I—b 3L '(7\‘»‘(— Dl 85 Czc«s,
o Pe Fuisted cubic C' Trdleed
(535,35t )

_ 3 3
= s« 7 35 buy *35{2uvzf 63\/3

= (5‘44— 'é:\/)g.
To see fueh O30 Ty 15 Tre wnion
oF 'l"ana,c.f\i' UMJJ we nott /h\‘\'} 'h’\“-



poiat T 7 (0,0,1,0) € €PN\ C
'F(bm "h\*— CK%M‘oLn bocowyy
52 (6,0,3,0)¢ PP\

and Pat B7s 3V e O,
Ftr\a[ly , we no+te ‘{’V.-\{' e lao:/\f-
z = Clo00) ¢ CP’\ C Frm fha

-/

@%am,o(a becomes ‘Z) = ((10,0, l) (&
CP N 7 and  Anat

Z gwik
2 = WLC+vi: T (utre /3\/>é 63
7) k=0 ‘

QRED.



